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Note : Att‘empt questions of all three sectzons as-

4 . directed Dzstrzbutzons of marks is. gzven with
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ﬁie True or False

(1) WWWH‘(W%

Probabﬂlty 18 based only on Loglc

(i) ,mm-?ﬁfamﬁmestmaﬁ%r

Theory of samphng not cover to F’ test

b

(m) mmwmg@a ﬁa’q’ﬁi‘ﬁn%l

Analysis of variance is mamly used in Agnculture L

Seotor. |
(iv) wm@rmaﬁw%ﬁm—mﬁ
= frafi o AL :

One assurﬁption of interpolation and eXtraﬁolati.’
is that the fluctuations are regular and umform
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(Short Answer Type Questlons)
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Note Attempt all the questions in short, One quesnon

from each unit is compulsory Each questzon
carries 4 marks,

L

Unit-I BEEE
%ﬂ%ﬁmﬁmaﬁml

Explain the importance of the concept of Probablhty n
Statistics.



Or

srﬁﬁm 2l % ? e & w a‘r
What is Samplmg? Descrlbe any

ﬁfaﬁ 1 T
two 'methods A‘
ganre-111

- Unit-III
4. W fagersor 1 27 W’Qﬁ TraTd ﬁiﬁa—a I

What is Analysis of Variance? What are its assumptlons -
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Or
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What is Chi-square test? Explain with example.
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Bring out clearly the dlfference between ‘Total’ énd

‘Partial’ assoclatlon.
L 4 - Umt-V-
¥ uﬁwﬁsﬁww%7 gﬁwma‘raﬁtzﬁ%

Wha-t is Regression Analysis? Why are ‘there 'two ¥

regression lines?

oo :
i Tt = fodR S

~ Discuss Decision Environment.
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Section-‘C”
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(Long Answér Type Questions)
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~ Note: Attempt all the five questions. One question

. from each unit is compulsory. Each question
[ . carries 12 marks.
" 4 -]

o Unit-I

7, (e 52 TR v T 9 T gfee w9
TR | 39 I GRS § R 9% T () S
B, (i) F TR AT, (iii) TFA ms‘m?
From a pack of 52 cards one card is drawn at random.

What is the probablhty that it will be (1) a ng
a card of black colour, (iii) an ace of space?
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B S it adopted? What are its advantages?

balls What is the probablhty of gettmg_
ball by drawing a ball at random?

Sl

Or
anwamm@mmmwmm
3§ wmwmﬁ%? ?{?ﬁ'ﬂl

| What role is played by permutation and combinatien. and

rule of addition and multlphcatlon in probablhty theory?
Explam
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Unit-IT | | .
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wmet q?

What is meant by sample method of Investlgatlon‘? W]
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100 students of college were put to tests in Statistics an 1
Accountancy respectlvely and the followmg results were

obtained : |
o | | » Meaﬂ marks Standard deviation

FLws . 7
IS

Statistics
~ Accountancy :
Co—efﬁment of corrclatlon r=+075" :
- Calculate the standard error of the difference of the two (
| means and state whether the dxfference is 31gmﬁcant |
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In an experiment of vaccination against -small-,‘pox the
following results were obtained : ot '

Particular Attack by  Unattacked Total
Small-pox oo

Vaccinated 24
s Non-vaccinated EIR
Total 56 ;
i Xamine the utility of vaccination in controlli




i &
| L AYS ! A2 LA
! \ B
Tn
LT
3 L
. .
) B O i
B %
i
5
\

200 ¥ FH

2 R

Plloen . - 200
G080 . 20
800000 150

Estimate the number of pers_ons whose_income are R
- between ¥ 400 and ¥ 500 from the following figures :

' Income (in T) - No. of persons
| ' (inthousand)
Below 200 - 120
200-400 145
00600 _ 200

600-800 250
- 800-1000 & 150
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Calculate regression equation of ¥ on X, and estimate the

demand for T.V. sets for a town with a population of 30
thousands.
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ADVANCED STATISTICAL ANALYSIS

| o Paper : Th.ird

Time Allowed : Three hours
i " Maximum Marks : 85
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 Note: Attempt questions of all 'thre_e sections as
directed. Distributions of marks is given with
sections. -
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(Objective Type Questions)
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- Find the probabxhty of gettmg more than 2 with an
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The degree of freedom in a contingency'ltable
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The relation between A and E is :
(@) E+A=I
(b) A=E+l

(©) E+1+A
(d) None of these

& i e & ol A g9 don W 8-
{ay" 2

() 6
d 8
The total number of classes in case of two attributes
is :
(@ 2
(b) 4
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'Section-‘B’

(7Y I 9T) 5x4=20
(Short Answer ﬁpe Questions)
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Note :  Attempt all the questions in short. One question

Jfrom each unit is compulsory. Each question

carries 4 marks.

oLl
Unit-I
2. FeE e ufimm

Give statistical definition of probability.
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uﬁeﬁw%7mmﬁﬁyﬁmmﬁaﬁ%?

What is a sample‘? In what situations samp]mg is

'mevntable‘?
Ao
y | Or
| el whem @ efafy #=0€?

What is the procedure of test of significance?

N 1511
| Unit-IT
4, v fawd F q'sc—q' w1 R?
What is the significanée of analysis of variénce'?
qat
~ or
FR-a1 T w1 g fafaw)

Write the meaning of Chi-square test.

D-3767




s
Or

T W R

What is association?

-V |
Unit-V
6. Wammwm aaefaﬂmqrﬁimﬁsa"wﬁsﬁ
wﬂﬁmmu

¥

Explam the meanmg of correlation and regressmn and

their utlllty in economic analysns
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(Long Answer Type Questions)

A mﬁufamfa‘,ma'rfammm?#w
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Note : Attempt all the five questions. One question
from each unit is compulsory. Each question

carries 12 marks.

ThT3-1

Unit-I

g @%ﬁsmﬁzmﬁﬁ%lqﬁﬁéﬁsm
ﬁﬂamﬁ%:uﬁ@%mmwmﬁﬂ@
ﬂaﬁm@m%%ﬁmﬁa%mﬁﬁﬁmﬁm
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A bag contains 3 white and 2 black balls, An other bag
contains 5 white and 3 black balls. If a bag is chosen at
random and a draw of one ball is made, find the probability

 of that ball being white.

D-3767 PTO
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State the theorems of total and cqmpound probability

Tl

| Unit-H |
. T T e % o A 3 A % el g o
uﬁmo-oz%lsooaﬁ%@WﬁSWHﬁ
B i 42

~ A company makes electric bulbs. The probabiiity that an

electric bulb is defective is 0-02. What js the probability

that a shipment of 500 bulbs with co
" defectives,

D-3767

ntain exactly §.



Mﬁwﬁq@mwﬁaﬂmmmh |
From a normally distributed infinite number of iron bars.
While mean and standard deviation as 4 ft. and 0+6 ft.
respectively a sample of 100 bars is taken. If the sample
“mean is 4-2 ft. Can the sample be called a truely random
sample.
3o
Oor .
Tt el & wiem wifs fo yoma forsrer =t SR
qid € A -
n, = 500; m =1000; o, =10; 02 =12
From the following data test the 31gn1ﬁcance of the

difference of the standard deviation :

nl-—-SOO; n, =1000; 6,=10; 0, =12

D-3767




104
500-600 80
600-700 50

Find out the number of persons whose income is between

¥ 200-300:
Income - No. of persons*
4 | 100-200 160
' | 200300 | 9’
BE 300400 130

400-500

A €00 -
T gl

104



Explain clearly the Langrange method of interpolation.
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. Unit-V
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- Ob’té?n,the equations of the lines of vregres_sioﬁ from the

¢
*

following data :
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Why are there two regression line? Under what cc i
can these be only one line?




Time Allowed : 3 hours um

Regular/Private : 40/50
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\ Note :  Aitempt all the questzons: Op_tzons are m?ér,nal.

@'03—31
~ Section- A
(mﬁwm)
(Objectlve Type Questlons) | le=5

1. Fﬁﬁsm{ﬁdqd TSI :
Choose the correct answer :
(i) fgue faqo sae | e 3 Qe wigeha
5 19 e S 1 we B
(1) 1
() 2
(9) 4
() 6

220203




Tn bmamlal distribution mean m 3 an
probablllty ! then no. of total
observations wﬂl be:
(@ |1 (b) 2

(c) 4 (d) 6
(i) el Wit er e :

(31) 9HY &l
() SRR
(@) W
@ IR
Sample is the representative of :
(a) Universe
(b) Investigator
(c) Data
(d) None of these
(iii) SERT-fogeryoT =1 giaure femer fonar
(a7) fem (&) &
() #eifEEs  (3) &
Who did the rendering of analysis of
variance :
(a) Fisher (b) Gauset
(¢) Karl Pearson (d) George
(iv) oS o I7Ent ¢
(31) aE
(9) amermH
(V) x o Y ¥ ST Siaura & fer
() IWiea g4t

220203
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Lagrange’s formula is useful for :
(@) Interpolation
(b) Extrapolation

(c) Unequalinterval between the value
of x

(d) Alloftheabove
(v) S T YRIGTHA ok — 0.8 T — 0.2 &

ﬁ[ﬂ%ﬂﬁﬂmraﬂmm:
() -04 (&) 0.16
(W) +04 (7) -0.16

If the two regression coefficients are —
0.8 and - 0.2, then the value of
coefficient of correlation (r) is :

(@ -04 (b) 0.16

oy 04 (d) -0.16

dug-d
Section-B
( T Iritd U9 )
(Short Answer Type Questions) Sx2=10

& 41T YHY 1 FHART |
Explain the addition theorem of probability.
31T/ OR
fee ae= w1 fagioansii 1 9 Hifs |

Describe the characteristics of binomial
distribution.

220203 P.T.O.
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- Explainthe limitations of test of signif caqc‘»

y Eﬁaﬁqﬁm%?mﬁ«rﬁam

Write the uses of chi-square test.

_ AYGT/ OR ‘
SIS Sere o g 1 77
What is goodness of fit test 2

P wﬁaﬁhw—mﬁaﬁwaﬁm:
Explain the difference between statistics ‘of
attributes and Statistics of variab|es,

3194/ OR
HITRTIA TS 1o 3 1y R ferfigy |
Write the difference between interpolation
and extra polation,

)/Haﬂmqi@mweﬁr%?

When line of regression only one?

AT/ OR
- Wit fvfa fagiq s 2
What is statistical decisjon theory?
220203
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(Long Answer Type questions) IX3=25

A7 T4 ] T TR TR AR S
el G 4 T T ¢ | Rl o 3} ww
il TS T S & @ Wik g 1
e Teed Ol W Bl et 72
A bag contains 4 black and 1 white ball.
Another bag contains 5 black and 4 white balls. -
One ball has been taken out from one of the
bags and found black,what is the probobility

~ that it came from the first bag?
AYqAT/ OR
HEAEA 9 o T Sl THEU |

Explain the variance of Poisson distribution.

8. TSR H IR I Kl 1 ST HAW:
30% e 25% € | SH1 w9 1200 T
900 o Jfae¥ o1 T T & FR 5% efehd
TR R &1 Hohell &7
In two large population cities, there are 30%
and 25% respectively of gray-coloured
people. Is this difterence likely to be hidden
at 5% level of significance in samples of 1200

and 900 respectively from two populations?

3{Udr/ OR

220203 P.T.O.
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e fave &1 ST FHerE

Explain the utility of standard error.

S T 1§82 39 W F fB
yftfeerfial § w1 =Me T
What is chi-square test? Under what
conditions it is applicable?

AYdT/ OR
TR fIeTo T difeTehl bt o1 o Wk <hl STt
& 791 39 R A e fohg THR i STl & 2
How is an analysis of variance table set up and
how is test based on it performed?

Wmawwwmm:

Interpolate the missing figure in the following:

X 120]25]130)35]40]45

ERIRO0 661 2 | 721 75 1:80
34T/ OR

wﬁamaéwﬁmnmsaﬁm%ﬁ
H?

Explain meaning of association of attributes.

/—Iow would you calculate it?
1

" Freafefem sl @ s 4 270 wer 3w
ﬁwﬁﬁwﬁmﬁawwﬁml

220203
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Find the most likely price in Delhij
corresponding to the price of¥70 at Agra from
the following data :

A | foweh
Agra | Delhi
A T 65 67
Average price
SATY feraem 25550 | NENs
Standard deviation
S T % e ey T +.8

Coefficient of correlation between the prices
of the two places +.8
AAAT/ OR
EMV 521 EOL &l sz |
Explain EMV and EQL_.

¢00

220203
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